MAK 205
QUIZ 1 TELAFI

Ad1 ve Soyadi:
Numarasi:

1-106. The bar is held in equilibrium by the pin supports
at A and B. Note that the support at A has a single leaf
and therefore it involves single shear in the pin, and the
support at B has a double leaf and therefore it involves
double shear. The allowable shear stress for both pins is
Talow = 150 MPa. If a uniform distributed load of
w = 8 kN/m is placed on the bar, determine its minimum
allowable position x from B. Pins A and B each have a
diameter of 8 mm. Neglect any axial force in the bar.
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